
MIAMIDADE COUNTY 
APPROVED 

MIAMI-DAM 
1111111111" 

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) 
BOARD AND CODE ADMINISTRATION DIVISION 

NOTICE OF ACCEPTANCE (NOA)  

Amarr Garage Doors 
165 Carriage Court 
Winston-Salem, NC 27105 
SCOPE: 
This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The 
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section to be 
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHJ). 
This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control 
Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have 
this product or material tested for quality assurance purposes. If this product or material fails to perform in the 
accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, 
modify, or suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke 
this acceptance, if it is determined by Miami-Dade County Product Control Section that this product or material 
fails to meet the requirements of the applicable building code. 
This product is approved as described herein, and has been designed to comply with the Florida Building Code, 
including the High Velocity Hurricane Zone. 

DESCRIPTION: Model 500 Classica 1000, 2000 Steel Sectional Garage Door up to 9'-0" Wide 

APPROVAL DOCUMENT: Drawing No. IRC-5309-185-21-I, titled "Model 500 Classica 1000, 2000 
Flush, Bead, Raised and Recessed Panel", sheets 1 through 3 of 3, dated 09/11/2008, with revision A dated 
11/07/2010, prepared by Amarr Garage Doors, signed and sealed by Thomas L. Shelmerdine, P.E., bearing 
the Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and 
expiration date by the Miami-Dade County Product Control Section. 
MISSILE IMPACT RATING: Large and Small Missile Impact Resistant 
LABELING: A permanent label with the manufacturer's name or logo, 3800 Greenway Circle, Lawrence, 
Kansas, model number, the positive and negative design pressure rating, indicate impact rated if applicable, 
installation instruction drawing reference number, approval number (NOA), the applicable test standards, and 
the statement reading `Miami-Dade County Product Control Approved' is to be located on the door's side 
track, bottom angle, or inner surface of a panel. 
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no 
change in the applicable building code negatively affecting the performance of this product. 
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in 
the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of 
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to 
comply with any section of this NOA shall be cause for termination and removal of NOA. 
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed 
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then 
it shall be done in its entirety. 
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its 
distributors and shall be available for inspection at the job site at the request of the Building Official. 
This NOA revises NOA # 14-0306.05 and consists of this page 1 and evidence page E-1, as well as approval 
document mentioned above. 
The submitted documentation was reviewed by Carlos M. Utrera, P.E. 

NOA No. 15-0505.19 
Expiration Date: April 29, 2019 

Approval Date: July 23, 2015 
Page 1 

MIAMI-DADE COUNTY 
PRODUCT CONTROL SECTION 

11805 SW 26 Street, Room 208 
Miami, Florida 33175-2474 

T (786) 315-2590 F (786) 315-2599 

www.miamidade.2oWeconomy 



Amarr Garage Doors 

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED 

A. 	DRAWINGS "Submitted under NOA # 12-0228.11" 
1. 	Drawing No. IRC-5309-185-214, titled "Model 500 Classica 1000, 2000 Flush, Bead, 

Raised and Recessed Panel", sheets 1 through 3 of 3, dated 09/11/2008, with revision 
A dated 11/07/2010, prepared by Amarr Garage Doors, signed and sealed by Thomas 
L. Shelmerdine, P.E. 

B. 	TESTS "Submitted under NOA # 12-0228.11" 
1. Test report on Evaluation of Painted or Coated Specimens Subjected to Corrosive 

Environments per ASTM D1654 & ASTM B117, prepared by Architectural Testing, 
Inc., Test Report # A7420.01-106-18, dated 04/12/2011, signed and sealed by Joseph 
A. Reed, P.E. 

"Submitted under NOA # 09-0312.06" 
2. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94 

2) Large Missile Impact Test per FBC, TAS 201-94 
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94 
4) Forced Entry Test, per FBC 2411 3.2.1, TAS 202-94 
5) Tensile Test, per ASTM E8 

Along with marked-up drawings and installation diagram of Atnarr 9'x 8' 24 ga steel 
garage door Model 500 Classica 1000, prepared by American Test Lab, Inc, Test 
Report No. ATLNC 0825.01-08, dated 10/07/2008, signed and sealed by David W. 
Johnson, P.E. 

C. 	CALCULATIONS "Submitted under NOA # 12-0228.11" 
1. 	Anchor calculations prepared by Structural Solutions, P.A., dated 01/25/2012, signed 

and sealed by Thomas L. Shelmerdine, P.E. 

D. QUALITY ASSURANCE 
1. 	Miami-Dade Department of Regulatory and Economic Resources (RER) 

E. MATERIAL CERTIFICATIONS 
1. 	None. 

F. STATEMENTS 
1. 	Statement letter of code conformance to the 5 th  edition (2014) FBC and no financial 

interest issued by Structural Solutions, PA., dated 04/08/2015, signed and sealed by 
Tomas L. Shelmerdine, P.E. 

Carlos M. Utrera, P.E. 
Product Control Examiner 

NOA No. 15-0505.19 
Expiration Date: April 29, 2019 

Approval Date: July 23, 2015 
E -1 



DESIGN LOADS =WC= 
+244.8 LBS/FT 
—279.0 LBS/FT 

spECIFICATION$ AND_ NOTES  

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK, 
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS. 
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD 
TRANSFERRED FROM THE DOOR. 
2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF: 
+244.8 LEIS/FT dc 	LBS/FT 
3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFAC1URF.D 
AND INSTALLED MTH STANDARDS AS SET FORTH BY DASMA. 
4. DOOR SECTIONS SHALL BE 24 GA. MIN. EXTERIOR SKIN 
ROLLED FORMED, W/ BAKED ON POLYESTER FINISH 
S. DOORS UP TO 1410" HIGH USE (1) 3 5/8" R-TRUSS AND 
(1) 3" 20 GA. STRUT PER SECTION 
6. REFER TO TABLE 1 FOR TRACK ATTACHMENT SCHEDULE 
7. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED 
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS 
INDICATED ON THIS DRAW1NC IN ADDITION TO OTHER LOADINGS, 
O. MS APPROVAL REQUIRES THE MANUFACTURER TO DO TESTING OF 
ALL COILS USED TO FABRICATE DOOR PANELS UNDER THIS NOTICE OF 
ACCEPTANCE, A MINIMUM OF 2 SPECIMENS SHALL BE OUT FROM EACH 
COIL AND TENSILE TESTED ACCORDING TO ASTM E-8 BY A DADE 
COUNTY APPROVED LAB SELECTED AND PAID BY TI-IF. MANUFACTURER. 
EVERY $ MONTHS, 4 TIMES A YEAR, ME MANUFACTURER SHALL MAIL 
TO THIS OFFICE: A COPY OF THE TEST REPORTS WITH CONFIRMATION 
THAT THE SPECIMENS WERE SELECTED FROM COILS AT THE 
MANUFACTURER PRODUCTION FACILITIES. ANI) A NOTARIZED STATEMENT 
FROM THE MANUFACTURER THAT ONLY COILS WITH YIELD STRENGTH OF 
34,600 PSI OR MORE SHALL BE USED TO MAKE DOOR PANELS FOR 
DADE COUNTY UNDER TH S Norice OF ACCEPTANCE, 

SEE NOTE 2 

II DA GALV. CONHERCTAL 
TOP ROLLER BRACKET 

ATTACHED V/(4) 1/4' .  x 
3/4' HEX HEAD SCREWS 

PER BRACKET 

2' 10 BALL STEEL ROLLER 
V.151  STEM AND (I) 7/16 ,  
BOLT RETAINER USED FOR 
THREADED FASTENERS 

3 Dm' 2ROA. R-TRUSS 
ATTACHED W/ CO 1/4' x 
3/4 ,  HEX HEAD SCREWS 
AT EACH CENTER STILE 

14 GA 1.25' X 1.25' X 1 
PUNCHED ANGLE ATTACHED 1I1 
ADJUSTABLE SLIDE•ON TOP 
FIXTURE WITH 11) 5/16' X 3/4' 
Baur AND NUT 

DJUSTABLE sLIDE ATTACHED 
ITH (2) 5/16' X 3/4' EDITS 

AND NUTS • 

(I) 3 5/8' X 22 JA R TRUSS 
ATTACHED V/ (e) 1/4' X 3/4'; 
HEX HEAD SCREWS PER-STILE 

140A, GOITER HINGE ATTACHED 
V/ <4> 1/4' x 3/4" 
HEX Hue nevi's 

24 GA SKIN 
W/BAKED ON POLYESTER FINISH 

TYPICAL CENTER HINGE 
H.T.S. 

2' ID BALL STEEL 
ROLLER W/9' STEN 

AHD SO RETAINER USED FOR 
THREADED SHAFTS PER ROLLER 

14 _GA, 
:ND HINGE ATTANED 
/ (2) I/4 ,  x 1/4" 

HEX HEAD SCREWS 

1405. SHEARED ROLLER 
CARRIER ATTACHED TO 

R-TRuss w/ (3) 1/4' x 3/4 ,  
HEX HEAD SCREWS PER CARRIER 

1411k RoLLER CARRIER ATTACHED 
,To END STILE V/ (4) I/4 ,  x 3/4 ,  
HEX HEAD SCREWS PER CARRIER 

SLIDE LOCK ENGAGES 111To VERTICAL 
TRACK WI punt siDES (SNAP LATCH, 
OR LOCK DAR GrTIONAL) ATTACH 
Wm) 1/4' x alemEx HEAD sCREVS 

a 5/0' 220 R-TRUSS 
ATTACHED W <4) 1/4' x 

3/4' HEX HEAD SCREWS AND 
(2) AT EACH CENTER STILE 

PRODUCT RENEWED 	PROM= REVISED 
wapir frig *tab tht Florida 0 coozplytoll With the Floalft 

Ehtildins Code 	 Utsilillas Coda 
Accaptteme No ' • 4..4.  e)„5.  Acceptroce No 4-0,,` I 
Evaimo, b  lamp.t Expiretrylasio ..-1,WAI4'k 11 

fly 

DATE ley 
woo lw 

REV NSUIPDRI OF REM 

LIFOMED 10 tin 2010 

MAX SI5F 
9' x 14 

DESIGN LOADS 
+84.4 PSF 
-02.0 PSF 

LARGE MISSILE 
IMPACT 

RESISTANCE 

145 CARRIAGE COURT WINSTON-SALEK NC. 21105 vwvAMARR.co4 

Model #500 Classioa 1000 1  2000 
PLUSH, BRAD, RAISED AND RECESSED PANEL 

SHE I DWI 81 MilDM1 00/11/03 ARAYMO MEER 

IRC-5309 -10 -21-1 131 am a wol DATE (OHM 

14 GA Law x 1.25' X 
PUNCHED ANGLE ATTACHED 
TO ADJUSTABLE SLIDE ON 
TOP FIXTURE WITH (1) 5/16' 
X 3/4' BOLT AND NUT 
ADJUSTABLE SLIDE ATTACHED 
WITH (2) 5/16' X 3/4' 
DOLTS AND NUTS 

INTERIOR OF GARAGE 

1.--1 	MAX. WIDTH 9'0" 	1-11— 

9'-O F  MAX ,  
ELEVATioN 

rwo (2) Rays OF THREE (3), 
VENTS EQUALS 15 SQ. INCHES 

TYPICAL END HINGE 

CONT. STEEL RETAINER 
1Y/ CONT. BIM SEAL 

SECTION A— A (SIDE VIEW) 
N.T.S. 

7
3' x 20 GA r STRUTS 
(1) PER SECTION 

END HINGE 
14 GA, 

3' DMA. STRUT ATTACHED %I/ 
(2) 1/4' X 5/8' HEX HEAD SCREWS 

AT EACH END AND CENTER STILE 

2 ,  10 BALL STEEL ROLLER V/5 ,  sTED 
AND (1) RETAINER USED FOR 

THREADED SHAFTS PER ROLLER 

5/16' x 1 SAP LAO 
scrim./ <1> PER 
JAMB BRACKET 

(I) 1/4-20 x 5/8 TRACK 
SPLICE DDLT N1D NUT PER 

JAMB DRAcxET 

BOTTOM BRACKET 
13 OA. ATTACHED 
W/(3) 1/4 ,  X 5/13 ,  
HEX HEAD SCREWS. 

OPTIONAL VENT DETAIL 
H.T.R. 

TYPICAL BOTTOM BRACKET 

GA CENTER STILE 

WOOD BLOCK BEHIND EACH 1110 STILE 
(2) PER SECTION 

1-1/2' X a-sro' x 31-1/2' <32' sEcTIONs> 
1-1/2,  x 2-5/8 ,  K 27-1/2' sae' SECTIONS) 
1-1/2 ,  x 8-5/8 ,  x 20-1/2 ,  car SECTIONS) 
1-i/D ,  X 2-5/e ,  x 17-1/2 ,  Ste' scums) 

STOP /AMINO 
W FLEMBLE SEAL 
(SUPPLIED DY INSTALLER) 

iTtAcX mocxNEss 	 —A OALV. SW,CL MACK 

al 1405. SHEARED ROLLER 
CARRIER ATTACHED TO R^TRUSS 
W (3) 1/4' x 3/4' 
HEX HEAD SCREWS 	 a 

20 GA. GALV. STEEL END STILE 
ATTACHED WITH (12) cLINEHED 
JoINTS 

CONT. vERDOAL JAMB 20 
SYP OR SAP 
(NO. 2 OR BETTER) PRUDIJCI REVISED 

so complying with the Florida 
Studding Coda 
Acceptance Not A 

LARGE VISSILE 
1VIPAraT RESISTANCE 

SAM X 22 OA, 
(3 5/8" R,TRUSS) 

a 5/0'11 x ea GA, 
BALV, STEEL 
R-TRUSS ATTACHED 
St) PER SECTION 
WI (4) 1/4 8  x 3/4' 
HEX HEAD SCREWS 
AT EACH END STILE, 
(e) AT EACH CENTER 
STILE 

BOTTOM BRACKET 
ATTACHED 
iN/ (3) 1/4' x V4' 
HEX HEAD SCRUM 

ERMER D1N1A.5 L SIENEREGERE, Er.T4(0145101 21111 1 Cf 3 



WOOD 
STRUCTURE 

CONCRETE 
STRUCTURE 

4' 

GROUTED ROCK 
STRUCTURE 

WOOD JAMB ATTACHMENT TO STRUCTURE 

(SPLI

CE) 1  

THROUGH 

0 00060  060 

13 GA, FLAG BRACKET ATTACHED TO WOOD 
JAMB 
V/ (3) 5/16. DIA. X 1-5/8" LAG BOLTS AND TB 
TRACK W/ (4) 1/4 	r'-E0 x /8 TRACK SPLICE 
BOLTS AND NUTS 

(1) 0/10" DIA. x  
LAG BOLT ATTACHED TO JAMB 
AT EA, JAMB BRACKET 

SPLICE TRACKS AT THIS LOCATION 
W/ (4) 1/4"-20 TRACK SPLICE -  BOLTS & NUTS 
SECURE TO JAM13 WITH (3) 5/10" DIA, x 1-5/6" 
LAO BOLTS. (1) AT SPLICE LOCATION AND 
(2) IN UPPER PORTION OF FLAG BRACKET 

12 GA, GALV, STEEL 
JAMB BRACKETS 
ATTACHED W/ (1) 1/4"-20 x 5/8" 
TRACK SPLICE BOLT & NUT 

2 X 6 MIX& JAMB KrACINENT To WOOD FRAME SBUCTURE 
6/16' x 	SCREWS STARTING 6" FROM ENDS THEN 20" 0.0. (1 1/2" EMBEDMENT) 

7..I_ONEEfill.GALJAMELATIA 
HUI KWIK BOLT 3/8" X 4" STARTING 6" FROm ENDS THE/I 24" O.C. (2 yr EmnEOMENT) 
HIETI SLEEVE ANCHOR 3/Er X 2-3/4" STARTING 6" FROM ENDS NEN 18" 0.0. (1 1/4" EMBEDMENT) 
MV/RAMSET REDHEAD (TRU-BOLT) 3/6" X 4" STARTING 6" FROM ENDS THEN 24" 0.0. (2 1/2" EMBEomENT) 

,2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW 0-00 BLOCK 
sovsori 1/4' X r- TITEN SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART) 
AT Er 0.0. (1 1,/2" EMBEDMENT) 
Mil 1/4" X 2-3/4" KWIK-CON II+ SCREWS STARTING 6 *  FROM ENOS, USE PAIRS OF FASTENERS (3" APART) 
AT 8" 0,0. (1 1/4" EMBEDMENT) 

2-N-LYERTICALs1ABBAIM-111E -1..2099--PALQRD-Ad- 
HILTI SLEEVE ANCHOR 3/8" X 2-3/4' STARTING 6' FROM ENDS 11-1E1 20" 0.0. (1 1/4" EMBEDMENT) 
(OR, USE FASTENERS FOR HOLLOW 0-90 BLOCK) 

*LAGS AND BOLTS CAN DB CoUFFTERSUNK TO PRIDE A FLUSH MOUNTINO SURFACE. 
*PREPARATION OF WOOD JAMBS By OTHERS 

PalaDUL'Iattliga 

PRODUCT !WWII/ED 
locolatiTios With the Florida 
Boildine Code 
AtesPRIhtc t4o 41WW; 
RiEpindeVetk 

By 
Miami Dade Produrt Control 

• e$ ouIPIADO with thi nada 
Brd Wing Cods 
Arceptenco Z 
ihriAllikA9014 

BEY OCSCIVIVI OF REWS!ONS 
	

DATE 	BY 

INDATED TO MO 2010 
	

11/1/10 80 

MAX SIZE 
x 14' 

DESIGN LOAD1 
+54.4 PSF 
-62.0 PSF 

LARGE MISSILE 
IMPACT - 

RESISTANCE 

cut 
163 CA.RRIAGE MAT WIHS11:24-SALEK, tic. 27143 VINWARR,EVI 

T 	SEE (TABLE I) FUR 
JAMB BRACKET SPAC1N5 

TRACK CONFICURATION FOR 6'6" UP TO 14' TALL DOORS 

Model #500 Classico 1000, 2000 
FLUSH AND BEAD PANEL 

5REF  MN 	NE WON  
8 OM By  S(11 DATE WII/D5  

Malt NM I. MIRA RE. 110,14.00179 

COMX011.11/919 
IRC- 5309-185-21 - I 

8111 2 Cr 3 



TABLE 2 

Section 

Stile Locations 
(Measured From Left 

Edge 

' 

Panel Arrangements 

Width 

(ft) 

Width 

(in) 

Height(s) 
(in) 

2nd 
(in) 

Il 

	

22,4E17 	44.938 

	

23.577 	46.938 
glIVIOMMAM3-310MEEMARRUMANtliftVg- 

3rd 
(in) 

67.389 

70.299 

smignavonwommaim 

Width to 
Leading 

Embossment 
Edge (In) 

2,036 

Spacing 
Between 

Embossment 
Pairs (in) 

4.000 
Nairomakdati 

7-6" 

7 -10" 

so 	188,21  

94 	18&21 3.126 	' 
-- 	0.1ozt 
5,820 

UM .—ELIMMTAIR r An ‘F , 	ila 1 -i-  ' 0 --ral Migglatgl 
6.848 8 1-2fl 	98 	18&21 	25.063 	48.938 

EITALSIVEMNUMNIIMMUMMENEMNIUP-  
31-6u 	102 	18&21 	26.063 	50.938 

REMPISMEIBMWEITMORTMEWMINNE 
8' 10" 	106 	18&21 	27.063 	52.938 
. .:,- AMIEMMVBFRINA6m 

72.813 

75.613 

78.813 

4.612 

5.612 
W.;-- 

8.848 

6.612 	10.840 
!Cli'MFBIENAtk ' -1: 	r. 

NOTES: 
1. ZINC COATING 
2‘ MATERIAL YIELD STRENGTH: 35-49 KSI, 
3. MATERIAL HARDNESS: 60-60 ROCKWELL B. 
4. 1.254  X 1.25' X i n  X 14 GA PUNCHED ANGLE 

MAY OE USED 

PRODUCT RENEWED 
as otorlying with the Fled& 
fluildhle Cock 
Accepts/not No Lts./(0/5—  

• ■ey s - 	 Li! 

TOP FIXTURE REINFORCEMENT 
ILLUSTRATION 

FfV DESOV1Xli Of Rt115106 

A WOAD 10 R30 MO 

MAX 
9' x 14 

DESIGN LOADS 
+54.4 PsF 
—62.0 PS• 

DATE 	BY 

11/1110 BO 

pit—Tstl  
3TA'E OF 

LARGE MISSILE 
IMPACT 

RESISTANCE 

1s5 cARRIAGE CoURT idIrISTaH-SA1E111 	e7lo5 Wv.ANARR.0011 

Model #500 Classioa 1O00, 2000 
FLUSH AND BEAD PANEL 

N DRAM 81' SW EWE 09/11/03 
	 nem 

B cool BY SiN DATE 09/11/03 
	

IRC-5309-185-21-I 

PR(11:X/CT REV1MD 
• cortwiy0s3 witisibe amide 
ittsBdieg Code 

"AccePtence No IGISK. 
Empitreon 

PROM= LLI3VISED 
0 cotriSyinit with the Piockft 
Banding Osde 
Aeospisnos No 
Expire 

TABLE 
DOOR 

HEIGHT 
TRACK- ATTACHMENT OPTION 1 SPLICE 

ABCD 1:111111111B1 H BMW L 113111R11 S 
raz,%Plffill mil 3" 
- 14'9 k1.4 

8' • 	1511 

-i-; -, 
Ni 
14" 

INIENI 

in 

REINKM: 
MEI 

_ 
38" 

38" 

46" 
zAti 
46" 

_Ow. 
56" 

56" 
MINIM 

0311.10-11  
68" 

68" 

:1.--1.1 Wil 'MI- -40 
111111111111111111111111111 
1:4 WM teit4 Kli 

78" 111111111111111111111111 

Ettlalf.Q. Efflii 
76" 

:-.-zi Mil rlOg0 
88" 

kialgt Mil 
9' El 

gt- 	: 
14" 

&ARM 
MU 46" 

 	14 

AU 
66" 

6 
68" 
Si 

MN 
78" 

lat4 a -4"  A r -'1  lail de 
Maill 

88" 
l'  IC .t.46.1: :irial, ii-T'.4  too 

Ma_ 
MIMI 

100" 
mr,:61 

_,...... ,- 	. 
10'  

r - l'. •IP 
151 
r-  61 

14" 
11, Y H.  

Eta 38" 46" 66" 68" 78" 88" 100" Ell 
.' ,. ' 41A 38 =. m =Ls Ls Elm EA o--  oi ;TT-FF '• -'-. 

3" 
PA 

14" 
F.M 

27" 
:§71,1 

38" 
i A 

46" 
Km 

66" 
20 

68" 
:'.. o 'ii 

78" 88" 
oVi '., Ai 

100" 
: P.0 ,3 

110" 
Km 104: 

111,11111111111 
„WA 1:.---'  

124" 
.:*- .: of'  Or 

12' 3" 14" EN 38" 46" 56" 68" 78" 88" 100" 110" 122" MIS 136" 
rf. = V7. 

13` 
ON 
3" 14" 

ORME 
27" 38" 

Eel 
46" 

. :4.-i 
66" 

NM MARA 40,91 MOS= i4,11* t 
68" 78" 88" 100" 114" IES1104i ' 

MI 
122" 

001S.i 	 
134" 146" 

EMBIFI0  
148" 

160" 
V NEgn r  ' . v  FUN  ;-.3N 

68" 
El 
78" 

NMI NM".  
88" 100" 114" 14' 3" 14" 38" 46" Ea 

ALL TRACK ATTACHMENT SPAC NO +/-2" ALLOWED 
WITH SW OR SPF NO. 2 OR BETTER ONLY 

DOOR 
HEIGHT 

. 7' 
NM 

8' 

TRACK ATTACHMENT OPTION 2 	• SPLICE 

. q2 --IMMINNEERFAMMMMWMEartoia 
A 	B 1E1 D 1111 F 1101 H 

ERA 10" mg 34" 46" 58"  
RAMMENDAReng US 
1351 10" LW 34" 46" 68" 70" 

I 

IN 

1111 
Enna 

J MUM 

=ff&r.=:Q 

M 

Mill 

MI 

76 ' l  
aing 

83" 
ar  :_t EtimitaVEREMERE., MEN . , _ 	• MS-  

11111 

1111 

In 

BEZMA 
100" 9'  

10'  

mimailim 
Elmo 

13'  

14'  

r',dt; MEMERMUMUKAMIN 

RIPMMINERI 

122 10" 22" 

3.6" 10" Eal 

0" 22" 

10" EN 
3.5" 	10" 22" 

1251 10" 22" 

M.i.,--15MIIMPIMMECIMM 

Malmmatimminummumwaranwro-  

NIMMERNEMMINEWRia 

34" 46" 68" 70" 82" 

34" 46" 58" 70" 82" 

34" 46" 58" 70" 82" 

34" 46" 58" 70" 82" 

34" 46" 58" 70" 82" 

111111 
we 

106"  

106" 

106" 

11111 

118" 

118" 

REMPARNSI 
eMMETAIN -  

' '6gENNERMK 

111111111111 

11111 

130" 

M1EN 94" 

94" 

94" 

94" 

' SI 
124" 

[A 
136" 
NU 

148" 
g-F  EN EIBMIPMEMEN Mina WM 

160" 34" 46" 58" 70" 121 94" 106" 118" 130" 142" 
ALL TRACK ATTACHMENT SPACING 41-2" ALLOWED 
WITH SYP OR SPF NO, 2 OR BETTER ONLY 

EIKIKEk 11KIM L %R&M FL DC. IN MP/ HET 3 tf 3 


